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1) Taylor, problem 4.35.

2) Taylor, problem 4.36

3) Taylor, problem 4.53

4.) Consider an elastic collision between an incoming particle with mass m1 and a particle

at rest with mass m2. Show that the angle θ between the two outgoing particles is

less than π/2 if m1 > m2, but greater than π/2 if m1 < m2. Hint: Work in the lab

frame and derive a formula for ~v1 · ~v2 where ~vi is the final velocity of the ith particle.

5) A weakly damped harmonic oscillator (β � ω0) of mass m is stretched a distance

x = A0 at t = 0 and then released. Find its energy as a function of time. Only keep

terms to first order in β/ω0.
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